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(a) y=cre”* + coe 2
(b) y=e¢”
(c) y=cie®cosz + cae” sinz
(d) y=v2e ) cos z + V2@ sing
(e) y = c1e /3 4 cowe™/3
1
(f) y= 2 sin 2z
(8) y = c1 €% cos 2z + ¢9 €% sin 2z
(8) y=Te 2TV 4 5ze~2@HD)
a= -2
3 12
(a) y=c1e”cos2x + coe” *sin 2z + 7 sin 2z — 17 ¢os 2z
3, 7 189 1, 24
(c) y= 0% —I—%m—l—ﬁ cosz + ~16° +
62671/295
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(e) y=x+ Zwsinw - ZwQ cos T + ¢y Sinx + c2 coS T
1
() y=c1e® + coxe® — 561 In(1 + z?) + ze® arctg x
(a) y =civ+ oz~
(b) y = c1z + coze”
(c) y=c1€” + cox
() y=ciz~?sinz + coz™? cosz
(a) y=c1 +coz !
(b) y =c12?® + cpz’Inz
(c) y=ciz 3 +cox !
(d) y=24%% — 7!
(e) y =2z 2 cos(2lnz) — z /% sin(21nz)
a<l
a>0
(a) y=c1e” + coxe® + cze™
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) sinz + 3625” +cie* +



=c¢1 + oz + 32 + cuze

=cjcosz+cgsinz+e
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c1+cor+c3e” +cge* +c5cosT + cgsinx
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Cs COS §I+Cﬁ sin Em
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